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=0 EETE EE 0N RS 0 9y 1 2 15 0y T00O0m (06~18h) (18~Fo6h) | B | R | (km) | OOFF[ 21FF
1f13.2 [ 6.1 [10.0 N 3.1 |ENE 2.0 [E 3.1 |SSE 4.1 | B e | wes e, maes | L3 L7 [ 5.0 ] 5.4 ] 5.6
2f16.2 | 5.8 |10.3 N 8.8 IN 8.0 [N 5.2 INNWW 211 | —HEE Jep Hi | 9.2 |25.0 | 7.1 | 5.7
3§16.1 | 6.6 |11.4 |N 2.6 |ESE 4.0 [SSW 2.6 [NW 5.1 | #=® W H4 §10.9 [20.0 | 7.2 | 3.1
4f18.7 | 9.1 |13.4 |E 1.5 |s 5.0 |sw 6.2 |s 10. 8 | 2 wtte—wy| A2 —RFR H5 | 5.4 [10.0 | 7.5 | 6.3
5017.0 |10.2 |13.5 |NNE 2.1 |ESE 3.0 [SE 2.1 |NNW 3.1 | = 5 IRF & (AR F3 1 2.5110.0 | 5.7 ] 5.6
619.3 | 9.5 |14.3 |N 2.1 |SE 3.0 |SSE 6.2 |SSW 5.1 | Pl H2 f11.5 [25.0 | 6.7 | 5.4
7020.9 |11.0 |15.3 |N 4.1 |ESE 3.0 [SE 3.1 [NE 1.0 | g Ffe— W H2 J11.4 [15.0 | 8.5 | 4.7
8j21.5 [11.2 |15.6 |N 1.5 |SE 4.0 |s 5.2 [s 7.2 | HEERE i 5| 9.2 1 6.0 5.4 3.8
9f23.4 [12.3 |17.1 N 1.5 |E 3.0 [E 3.1 INE 4.1 | PemE b H2 f11.8 [10.0 | 4.8 | 4.1
10§23.6 [13.4 [17.8 |sw 5.2 |s 5.0 [S 5.7 |sw 8.7 | i Jep H2 f12.2 [20.0 | 5.3 | 0.7
11f25.8 [13.2 [18.1 N 3.1 [E 3.0 |ESE 4.6 N 4.1 | Pers ! H3 f11.9 [10.0 | 2.9 | 1.5
12§21.2 [12.9 [16.1 [N 4.1 [E 3.0 |ESE 2.1 [SE 5.1 | Et&HE W—mpdis | 05 6.9 7057 46
13]23.2 [13.8 |18.0 |E 1.0 |SSE 5.0 [SSW 5.7 IN 3.1 | MRS & H4e | 9.8 [15.0 | 4.8 | 2.7
14§20.9 [14.4 [17.1 [sw 5.2 |sw 5.0 |sw 2.6 |sw 5.1 | 24 KT IE % | L2 —|15.0 | 5.2 | 5.6
15025.1 [14.9 19.6 |N 2.1 N 7.0 [N 4.1 |wNw 8.7 | W I H1 f11.1 [30.0 | 9.1 | 5.5
16§22.5 [14.3 [17.3 [N 2.1 [E 3.0 [E 3.6 |SSW 2.1 | W = H3 f11.1 [10.0 | 6.3 | 5.9
17§15.4 [11.3 [13.2 |NNE 2.1 INE 3.0 N 2.1 |SE 5.1 | &4 | &Rl F3 —110.0 | 3.4 | 4.4
18§19.1 [11.5 [14.8 |E 2.6 [E 2.0 |SSW 3.6 |WSw 3.1 | & Hhp A~ w2 | H5 | 4.6 |15.0 | 7.7 | 4.5
19§21.8 [13.2 |16.9 N 1.5 |E 4.0 |E 4.1 |NNE 5.1 | H—mHd2 Hiarx2 | H3 ]10.7 | 8.0 | 5.9 ] 3.6
20§20.9 |13.5 |16.5 |E 2.6 |NNE 2.0 |SE 2.6 |Ssw 4.1 | E—NHG L% —ER 15 1 5.6 110.0 | 7.0 | 5.9
21§20.7 |15.3 |17.8 |SSE 5.2 |SSE 6.0 [SSE 5.2 |S 1370 [ BB PN L2 ] 0.1 [20.0 | 83 4.1
23.7 [17.0 |19.4 |E 2.6 |ESE 3.0 |ESE 4.1 [sw 2.1 | Bth—WpE | 2% L1 91 |26.0[7.6]7.1
21.2 [13.4 [17.0 N 3.1 |NNE 1.0 |NE 2.6 |\ 17.0 | W5—mr2 e & 2 H1 | 8.7 [30.0 [10.2 | 6.7
15.2 |10.1 |13.1 |E 3.1 [E 4.0 |ESE 4.6 |SSW 4.1 | BN | ERFAW H3 ] 1.0 [30.0 | 8.2 | 5.6
12.1 ] 9.9 |10.8 |N 3.1 |NNE 2.0 [NE 2.6 |S 4.1 | K 2 [ L2 —] 8.0 3.5 | 4.2
19.9 [12.1 |15.8 |sW 9.8 |sw 12.0 [WSW  10.3 |SSW  13.9 | i Pl L1 f11.8 [20.0 | 7.3 | 6.7
19.3 [10.2 |13.9 |ENE 1.5 |ESE 3.0 N 6.2 |w 13.9 | E%E HIRF % & HI | 7.7 [40.0 [11.4 | 4.3
17.4 | 8.8 |13.0 |NNE 2.1 [E 4.0 |SE 3.1 N 2.1 | g i H2 §12.0 [30.0 | 8.9 | 5.4
20.4 | 9.3 |14.9 |ENE 1.5 |ESE 3.0 |SSE 4.6 |\ 5.1 | Pemg b H2 §12.6 [20.0 | 7.8 | 4.4
23.1 |11.6 |17.0 |ESE 2.1 |Ssw 3.0 |ssw 3.1 |w 3.1 | i LB H4 §12.3 [10.0 | 4.8 | 4.1
YRk 2 145 4
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(‘C) (m/s) EEY R[#] By o | R £ (C)
=1 EEE EECY BES 0 9y 1 2 15 iy T00O0m (06~18h) (18~Fo6h) | B | R | (km) | OOFF[ 21FF
1f24.4 [13.8 [19.1 |E 2.1 s 3.0 |SSw 3.6 |WNW 31| N e | H2 f12.0 [10.0 [ 3.5 | 3.3
2§25.0 [15.0 [19.5 |ENE 1.0 |Ssw 6.0 |S 5.2 |SSE 5.1 | g Gth Wi | H5 [12.2 [15.0 | 3.9 | 0.4
3023.1 [16.3 [19.3 [sw 5.2 |sw 7.0 |ssw 6.2 |Wsw 5.1 | #& H5 | 3.6 [20.0 | 6.4 | 5.2
4)23.9 [17.6 |20.1 |ssw 4.6 |SSW 4.0 |s 5.2 |SSW  11.8 | iz H5 | 8.0 [25.0 8.6 | 6.3
5018.9 [14.7 [17.0 [N 2.6 |E 4.0 |E 4.1 |E 2.1 | ks 2 x| L3 —120.0 | 7.8 | 4.7
6)17.8 [14.4 |15.7 |N 3.6 |NNE 3.0 |NNE 4.1 |ENE 9.8 | WN—Hr= L3 —l10.0 ] 6.6 | 4.7
7017.1 |14.6 [15.7 [N 4.6 N 5.0 N 4.1 |ENE  11.8 | M 5% L3 —| 5080149
8)21.0 |15.2 [17.5 |N 4.1 IN 3.0 IN 3.1 |NNE 9.8 | misxm. mapes WpmfamE| L3 ] 1.2 |16.0 | 5.6 | 2.1
9f25.6 [15.3 |20.2 |E 2.1 |SE 4.0 |s 5.2 |NNE 2.1 | W—Hd2 i | b4 J11.9 |26.0 | 4.2 |-1.3
10§28.6 [17.6 [22.2 |wsw 2.6 |S 4.0 |ssw 3.6 |Nw 6.2 | MR %2 14 10.4 [15.0 | 0.8 | 1.0
11§23.3 [18.0 [20.1 |ENE 2.6 |E 2.0 |ESE 2.1 |E 5.1 | & Hs | 1.2 3.0 [-0.3 ] 0.7
12§25.8 [18.6 |21.5 |SSE 2.6 |S 4.0 |s 5.2 |sw 2.1 | & — R 5 | 3.6 | 40 0.3] 5.0
13]25.6 [17.1 [21.6 |W 1.0 |SE 3.0 [E 2.6 |NNW 5.1 | &8N 2l 1.8]30]6.9] 38
14§23.0 [15.0 [18.3 [sw 6.2 |sw 9.0 |SSW 6.7 |sw 9.8 | HER—MFH H2 J11.0 [30.0 | 8.8 | 7.3
15020.0 113.0 [16.0 |E 4.1 [SSE 2.0 |sW 4.6 [NNW 3.1 | ALY H3 J12.4 [30.0 ] 8.8 ] 6.9
16§18.9 [15.7 [17.1 |SSW 2.6 |Sw 4.0 1S 4.6 |SSW 8.7 | & Wl H5 —120.0 | 81| 7.5
17§21.1 [16.4 [19.2 |SSw 6.2 |SSW 9.0 |SSw 8.2 [ssW 211 | milex & L1 —l10.0 | 5.5 5.0
18]27.7 [18.8 [22.8 |ENE 1.5 |ESE 3.0 |ESE 3.1 |Nw 10.8 | M —KFHg H2 f10.1 [30.0 | 8.6 | 3.3
19§23.0 [17.6 [20.3 |sw 1.5 |sw 4.0 |SSW 4.6 |WNW 4.1 | & 5 | 1.5 [10.0 | 3.6 [-1.3
20029.7 |17.0 |21.8 |NE 2.1 |E 5.0 [S 2.6 INE 3.1 H2 f12.4 [15.0 | 5.4 | 0.5
2127.1 |17.6 [21.8 [S 2.6 |SSW 4.0 1S 5.7 |SSw 8.2 s 7.716.0]| 30] 2.8
22024.3 |19.4 |21.2 [Ssw 6.2 |s 8.0 |Ssw 6.7 |ssw 22.1 L1| 2.8 2.0 7.4 [19.8
23]27.4 119.5 |22.4 N 2.1 |ESE 3.0 |ESE 2.6 |Wsw 3.1 | & H2 | 7.9 [15.0 | 6.6 | 6.1
24]21.3 |15.7 |18.7 |NNE 3.1 N 2.0 |ENE 1.5 |sw 1| WERE . F2]o06]60]50]6.0
25022.0 |15.9 118.3 |NE 2.6 |E 4.0 [ESE 2.6 INNE  11.8 (S50 AL H3 ) 6.5 [16.0 ] 5.1] 39
26]26.0 |16.7 [20.6 |E 3.1 |ESE 3.0 |SSE 4.1 |WNW 1| iR | Wtk —RREE H3 119 |15.0 | 5.2 | 5.1
270125.1 |17.5 |20.8 [E 1.5 |SE 2.0 |s 3.1 s 4.1 | HEtREE Eth—IFN H5 | 8.1 80| 9.1])6.9
28119.5 |15.9 [17.6 |NNE 3.1 |NNE 3.0 |ENE 5.7 |E 2.9 | W KW L3 —120.0 | 7.1 | 5.8
29]18.6 |15.2 |17.0 N 4.6 N 4.0 |NNE 4.1 |ENE 8.0 | it | 2Mix[ L3 —| 25| 47| 45
30020.7 |16.2 |18.3 N 3.6 IN 4,0 |ENE 1.5 |SE 7.2 | &—KFE = L3 —| 8.0 | 54| 4.4
ST 26 8 17762079 [SSE J1TSSE Yo L TS 5T L T U (R I RO N B
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(C) (m/s) A &[] | R E(°C)
nlEe [ BE] 75| 09 T 2 T 50 TOOOm| (06~18h) | (18~2o6h) | ® | B | (km) [ O9FF] 21
1§22.0 [17.1 [18.7 |E 3.1 |E 3.0 IN 2.6 N 4.1 | 2wy e | B H2 | 3.3 [15.0 | 6.6 | 1.2
2§26.3 [15.7 |20.7 |sw 2.6 |s 5.0 |Ssw 5.7 |wsw 5.1 | HE—FRE | & H4 J12.5 [20.0 | 2.7 | 5.5
3024.2 [19.5 [21.1 [sw 5.7 |SSw 6.0 |S 5.7 |sw 1.8 | & B2 [ 5 | 0.2 [15.0 | 6.6 | 6.6
4)23.1 [18.8 |20.4 |s 2.6 |SSE 3.0 |Ssw 2.1 |SSE 4.1 | & & H5 | 1.0 [15.0 | 8.5 | 5.4
5020.1 |17.5 |18.7 NNE 1.5 |ESE 2.0 |ESE 1.0 INE 2.1 | & 55 F3 —| 50]59] 45
6]23.5 [17.6 [19.6 |N 4.6 N 5.0 [N 3.1 [NE 108 [ WHEE R I L3 ] 0.2 30]54] 40
7027.5 |18.6 [21.6 [E 2.6 |ESE 3.0 [S 3.1 |NNW 6.2 | Wth—WpE | &% W | 03 J10.7 |30.0 | 8.8 | 1.9
8)20.3 [17.6 |18.7 |E 3.1 |E 3.0 |ENE 2.6 |Wsw 5.1 | 2 x [ B | H3 —l10.0 | 3.0 | 3.4
9f24.6 [18.3 |21.2 |E 2.1 |SE 2.0 |s 2.6 |sw 4.1 | ¥ & 3| 1.1 80| 74|55
10§24.8 [20.2 [22.1 |sw 4.1 |Ssw 5.0 |Ssw 4.6 |w 2.1 1= M F3o4]80]| 47|55
11]24.0 [18.2 121.0 [S 3.6 [NNW 2.0 IN 1.5 |SSW  11.8 | WifksE—WelG| WElF~ i | L3 ] 2.3 [ 4.0 ] 5.0 | 1.6
12§28.2 [18.7 [23.1 N 2.1 |SE 3.0 |s 5.7 |Ssw 7.2 | ARG R BN L1 J10.3 [30.0 | 5.5 | 5.7
13]27.8 [19.9 [22.6 |ESE 1.5 |ESE 3.0 [SE 3.6 |NNE 2.1 | ®th—WHE | M F3]562|25]| 48] 26
14§23.7 [18.8 [20.6 |E 3.6 |E 2.0 |SSE 3.6 |E 5.1 | BL—FE | & —FEN F3]24|80]36]3.1
15023.6 [18.2 [20.6 |E 4.1 |E 4.0 [E 3.6 |E 3.1 | & e, maws | F3 0 3.1 80 5.6 3.4
16§22.9 [17.4 [19.6 |E 3.1 [E 4.0 |E 4.1 INE T EE TN eE. mano | B3 [ 2.37[10.0 6.6 | 45
17]24.9 [18.0 |20.6 |NE 2.1 |SE 3.0 |SSE 4.6 |NNW 5.1 | &% W | &% W | H3 | 4.6 |10.0 | 8.3 | 4.2
18]24.9 [19.5 [21.6 |s 2.6 |sw 4.0 |s 3.6 |SSW 51| & 3 ) o0.5]100] 4541
19§26.5 [19.5 [22.1 |ENE 2.6 |E 3.0 |SE 2.6 |WSW 2.1 | W—HrE 80|30 4707
20027.1 119.2 |22.8 |E 2.1 |s 4.0 |s 4.6 |sw 7.2 | B4 5216.0] 44] 5.5
21]23.6 |21.5 [22.7 [SSW 4.1 |sw 4.0 |sw 2.6 |sw 17.0 | WERF~ —|30]40] 45
22024.5 |22.0 |23.1 [E 2.6 |SE 1.0 |s 2.6 |s 3.1 | s & —1z20] 23] 11
23]29.0 |23.6 |25.7 [SW 4.1 |ssw 5.0 [Ssw 4.1 W 7.2 | 2% W 4.2 140.0 | 3.1 | 1.1
24]26.2 120.8 [23.0 [SW 1.5 |E 1.0 N 2.1 |Ssw 5.1 | KWtk E 0.5 ] 40] 36|21
25027.3 |21.4 [23.3 [N 1.5 |E 2.0 |s 2.1 |ESE 4.1 | & 2.1160] 4951
26]29.3 120.9 |24.7 |ENE 1.0 [sw 4.0 [S 4.1 |NW 3.1 | R 6.2 110.0 [ 3.4 ] 0.6
27029.8 |21.0 [24.9 [ENE 1.0 |Ssw 4.0 |sw 5.7 |Ssw 1.0 | M e 10.0 [10.0 | 3.0 |-0.3
28]24.2 120.0 [22.1 [wsw 1.5 |SE 1.0 |NNE 3.1 |SSE 5.1 | B4 150 | 1.8 ] 5.2
29]29.0 |19.8 |24.3 [E 4.1 |ESE 4.0 |ESE 1.5 |NNW 7.2 | SR 7.2 |15.0 | 5.5 0.9
30024.6 |20.3 [22.0 [NNw 4.1 N 4.0 |ESE 2.1 s 7.2 | BRExH —|30] 1.2]3.0
2 14E7 A
ES % H [ u
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(C) (m/s) A R 2 E(C)
= Y EES 0 O IF T 2% T 5 T000m (06~18h) R | (km) | OOFEF[ 21FF
1J27.0 [21.0 ]23.6 |ENE 1.5 |E 2.0 [E 1.0 |SSE 6.2 | = K¢ —| 80 47 18
2§25.2 [20.5 |21.7 |ESE 2.1 N 2.0 N 2.1 |sw 6.2 | mEH -] 8027123
3]26.5 [20.5 [22.6 [E 2.6 |S 2.0 |sw 3.6 |SSE 4.1 | & 0.6 | 40]51]3.3
4§26.8 [20.3 |23.5 |NE 1.0 |E 3.0 |SSE 3.1 |w 2.1 | E&th—H5h 2.8 110.0 | 5.3 | 4.4
5025.6 [21.8 [23.3 [NE 1.0 [s 3.0 |Ssw 4.1 |wsw 3.1 | & 1.5 80| 59| 4.2
6f24.1 [21.4 [22.8 |wsw 2.6 |S 2.0 |SSW 4.6 |SW 10,87 R = —|15.0 ] 5.6 | 5.0
7029.0 [22.5 [25.3 [ssw 3.6 |SSW 8.0 [ssw 6.7 |wsw 7.2 | 2w 9.2 125.0 | 6.3 | 2.2
8)26.3 [23.9 |25.1 |sw 4.1 |sw 6.0 |SSW 6.2 |w 1.8 | N—H& 0.4 |15.0 | 4.5 | 2.4
9)29.6 [24.3 |26.6 |sw 5.2 |sw 8.0 |sw 6.7 |wsw 7.2 | 2w 2.2 120.0 | 7.2 | 3.4
10§28.7 [24.9 [26.5 |sw 8.8 |sw 8.0 |sw 8.8 |WsW 22.1 | & 0.7 130.0 | 3.2 | 4.3
11]26.8 [22.0 [24.2 |E 3.1 [E 2.0 [E 2.6 |ESE 4.1 | = 1.3 1250 | 5.5 [-0.1
12§28.1 [21.2 |24.4 |Ssw 1.5 |SSE 3.0 |s 3.11s 7.2 | & 3.2 |15.0 | 47| 3.1
13§31.1 [23.7 [27.4 [sw 7.2 |sw 11.0 |sw 6.7 |WSW  14.9 | Z—HERE 5.6 |30.0 | 3.4 1.6
14)30.2 [23.2 |26.3 |ENE 3.6 |E 5.0 |E 5.2 |W 3.1 | HERAE 3 8.2 125.0 | 2.7 | 4.6
15031.5 [24.0 [27.5 |ssw 7.7 |sw 9.0 |sw 9.3 |sw 10.8 | TR« I ; 12.8 [25.0 | 1.9 |-0.6
1603375 24737281 N 5 TTSE 3707sE 3TN 8.2 | R R | R R W5 [i1.5 72000 [ 6.7 [ 4T
17]26.8 [23.5 [24.8 [N 2.6 |sw 5.0 |sw 3.1 |w 7.2 | REE 2% —Br | F2 ] 0.1 |12.0 | 5.4 | 0.7
18§30.1 [23.9 [26.6 |sw 1.5 |sw 3.0 |wsw 3.11s 2.1 | 28 2 F2 )02 150 58| 29
19§30.3 [24.7 [27.3 |SSw 5.2 |ssw 6.0 |wsw 7.2 |Wsw 9.8 | 2 i — M L1fo7]250] 22](-09
20029.8 |23.5 [26.3 [ESE 2.6 |E 5.0 |ESE 4.6 |E 4.1 | B e = . H3 | 6.0 [20.0 | 5.2 | 2.9
21]23.6 |21.6 [22.7 |NE 2.1 N 2.0 |ENE 1.0 |SSE 3.1 | MRFx = FRIRE 2 42 F2 —l10.0 | 4.4] 2.3
22]26.3 |22.0 |23.4 |w 2.6 |Wsw 1.0 |Ssw 4.1 |sw 8.7 | B4/ = F2lo1|2s5|27]41
23]27.8 |22.8 |24.3 [ 0.5 |s 4.0 |s 2.1 s 8.2 | &t&Mix | %MW | F3 ] 1.1 [20.0 | 2.6 | 3.8
24]27.0 |24.2 |25.0 [S 5.2 1s 4.0 |SSW 3.1 |ssW 15,9 | 24 S F2 ] 0.6 [200]| 7.6 5.6
25029.5 |23.4 |26.3 [sw 6.2 |SSW 7.0 |SSW 8.2 |sw 10.8 | Hif EiE 4~ iz | F1] 8.5 (100 | 7.1 | 2.8
26]32.1 |25.3 [27.9 [SW 5.2 |SSW 6.0 |SW 7.7 |sw 6.2 | W M —mrE | 14 f12.6 [20.0 | 6.7 ] 3.7
27030.0 |22.2 |25.7 [S 4.1 s 6.0 |sw 4.1 |sw 9.8 | & wmiwnm. wews | BFFL [N F2 | 5.5 2.0 7.4 2.4
28]28.2 |23.7 |25.3 [S 4.6 |s 6.0 |SSW 2.1 |SSW 10.8 | EME xRN 2 H5 | 1.3 [20.0 | 6.8 | 5.3
29]30.7 |25.1 |27.4 [S 5.7 |SSw 6.0 |sw 6.7 [SsW  11.8 I 2 A F1 | 3.9 (3.0 75| 4.9
30032.5 |22.5 [28.0 [ssw 5.2 |s 4.0 |s 5.2 |wsw 4.1 AN F2 f10.1 [25.0 | 6.9 [-0.2
ST 05.6 211209 INNE 9.6 [ENE AN [ 4.8 |NNE 31 B E EEN BN OO R
W) RIR, EUE - R, KRR, BREOWRIL, Skt REE 0BT — & 2R,
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R 2 148 A

= ‘ . * = N
F# B i & JEIRC S it i
(C) (m/s) A &[] | R E(°C)
nlEe [ RBE] 75| 09 T 2 T 50 TOO0Om| (06~18h) | (18~2o6h) | ® | B | (km) [ O9FF] 21FF
1§28.5 |21.8 |24.4 |ENE 2.6 |NE 2.0 |ESE 2.6 |E 2.1 | B A | = H3 | 4.5 ]20.0 | 4.3 ] 2.0
2025.9 [22.4 |23.6 |ENE 2.1 [calm 0.0 |E 2.1 |wsw 4.1 | EFr 2l 2K H3 | 0.4 | 5.0 | 4.6 | 3.8
3029.6 [23.1 [25.9 [NNE 1.5 |E 4.0 [E 4.1 [E 2.1 | Emrxi A i 3| 77180 55] 3.1
4§29.4 [23.9 [25.7 |NNE 2.6 |NE 2.0 INE 3.1 INE 7.2 | 2B W% 3 | 2.1 130 43| 1.9
5030.2 [23.8 [26.4 |ESE 2.6 |ESE 3.0 [s 3.1 |NNW 3.1 | % St | 3] 3.2 115.0 | 6.5 | 2.6
6)31.0 [25.6 [27.2 ]S 2.1 |SE 3.0 |sW 4.6 |SSW Lo| 2 = H3 3.0 80| 50| 4.8
70132.0 [25.6 [28.0 [ssw 5.2 |sw 6.0 |SSW 6.7 |sw 12.9 | BE—HKFE S—WEERE) F2 ] 9.3 [30.0 | 6.9 | 0.6
8l32.2 [25.6 [28.0 |E 1.0 |s 1.0 |SSE 3.1 [sw 2.1 | &% =i H3 | 6.7 [20.0 | 5.4 | 3.8
9)32.4 [25.1 [28.0 |ENE 1.5 |SE 4.0 |s 3.6 |SSW 7.2 | W5 EthWExW | H5 ] 3.0 6.0 49| 4.5
10127.6 [24.8 |26.6 |S 4.6 |WsW 3.0 [s 4.1 18 13.9 | xmes, weps | FH0iE [T 401.4.9) 3.4
11]28.6 [24.5 126.0 |N 3.6 |NE 2.0 |ENE 4.1 |SE 10| BRI | R Tl27]140]39]42
12§30.6 [23.2 [26.1 |SE 1.5 |s 3.0 |s 5.2 N 2.1 | &4 L IF AN H4 ] 7.0 [20.0 | 4.9 | 1.0
1333.2 [25.4 [28.9 [sw 1.0 |Ssw 4.0 |Wsw 4.1 |sw 6.2 | RILIE 5 H4 | 7.5 [15.0 | 2.7 | 4.6
14§30.6 [25.4 [27.9 |E 3.6 |E 5.0 |ESE 3.6 |WNW 3.1 | & R 2 i H3 | 1.5 [10.0 | 6.0 | 3.2
15§30.7 [23.6 [26.6 |E 3.1 [E 4.0 [E 4.1 INNE 6.2 | ik ERE 13 f10.6 [20.0 | 6.5 | 0.8
16§32.0 [23.5 [27.1 |NNE 2.6 |E 3.0 [E 5.7 INE 6.2 | W b %= H3 f11.6 [20.0 | 5.3 |-0.2
17§30.4 [24.2 |26.4 |NE 2.1 |ENE 4.0 [E 5.2 INE 3.1 | B I % H3 §10.2 [20.0 | 5.7 | 4.6
18§30.1 [23.9 [26.5 |E 4.1 |E 4.0 |E 3.6 |E 3.1 | Witk E Efh— I H5 §10.0 [20.0 | 7.7 | 5.4
19§30.5 [24.4 [26.4 |SE 2.1 INE 1.0 |SSE 3.1 |WNW 2.1 | & MR | W5 | 5.1 [15.0 | 7.9 ] 5.1
20031.2 |23.8 [26.8 [SSE 2.1 |SSE 4.0 |SSE 5.2 1s 5.1 | MEmmE ey | pE—meis | 05 110.6 [20.0 | 8.9 ] 4.5
21]31.7 |25.5 [27.9 [SWw 5.7 |sw 5.0 |sw 5.2 |sw 7.2 | & = F1 | 3.6 [15.0 | 7.2 1.7
22]32.7 |26.5 |28.8 [E 1.5 |SSE 1.0 |s 2.6 |NNE 2.1 | 2Fr 4 2% —m [ F2] 7.1]60]67]3.5
23]30.6 |23.9 |26.6 [E 1.5 |ESE 3.0 |SE 3.1 [E 3.1 | 2= —m5hf & F3 | 6.4 2.0 57] 0.8
24]29.4 23.0 |25.3 [N 2.6 |SE 3.0 |s 2.6 |SE 4.1 | wvem i, wens | B—FER F3 | 4.6 [15.0 | 6.8 6.2
25027.6 |21.2 |24.0 |NE 2.1 |E 4.0 [E 3.6 INE 4.1 | WERG e 2 = 3 | 6.1 [25.0 | 7.7 | 6.0
26]27.4 122.4 |24.3 |E 4.1 |E 3.0 |E 3.1 |ENE 3.1 | &kl & H5 | 7.1 [20.0 | 9.4 | 4.1
27]28.7 120.7 |24.8 [N 3.1 |ENE 3.0 |ENE 2.1 |SE 3.1 | W H5 f11.9 [30.0 | 7.7 | 3.3
28]30.9 |23.0 |26.6 [S 2.6 |s 4.0 |SSW 4.6 |SSW 7.2 | B F1 f12.2 [30.0 | 7.7 | 3.9
29131.7 |24.1 |27.3 [wsw 2.6 |S 3.0 |s 4.6 |sw 8.2 | W F2 §10.7 [20.0 | 6.9 | 4.9
30026.1 |19.6 |23.1 |NE 3.6 |NNE 3.0 |NNE 2.6 INE 7.2 | MFEx 2 1300415047/ 3.5
k31 EEAON BYACH REA I 6.7 IN 707N 9. 3" E N BN T o BCRON EOE E !
— TRk 2 14£9 A
ES % = X1 H [ 3
* % & Ja 1A Ja. i - | om i
(‘C) (m/s) EEY R[#] EN S £ (C)
=0 EETE EE 0N B 0 9 f 1 2 T 50F T00O0m (06~18h) (18~Fo6h) | B | R | (km) | OOFF[ 21FF
1§30.6 [21.4 [25.5 [wNw 1.5 |ESE 2.0 |ESE 2.1 |sw 3.1 | K —Fr= ) H3 [ 6.3 [10.0 [ 2.5 | 3.6
2§23.3 [21.0 |22.0 |N 3.6 |NNE 4.0 |NNE 2.6 |ENE 8.2 | &—HF e 5] H3 —110.0 | 5.9 | 6.1
3]24.5 [20.5 [22.1 [NNE 2.1 |NNE 2.0 INE 1.5 |ENE 4.1 | & & H5 | 0.4 [20.0 | 7.0 | 5.8
4)26.4 [20.2 |22.8 |N 3.6 [E 3.0 [E 4.1 INE 4.1 | & Elf 2 A H5 | 2.9 [20.0 | 5.9 | 4.1
5028.6 [20.5 [24.2 [N 4.1 |E 4.0 |E 5.7 |ENE 4.1 | w5—mr2 e (131 9.2120.0 [ 6.1 ] 2.2
6§28.0 [21.8 [24.2 |NE 2.6 [E 4.0 |E 7.2 INE 7.2 | W T B H3 f10.2 [20.0 | 6.7 | 2.7
7027.2 [22.0 |24.2 [NNE 2.1 |E 5.0 |E 4.1 |ENE 4.1 | W i 1% 2 H5 J11.3 [20.0 | 6.8 | 3.2
8)28.9 [22.4 |24.8 |N 4.1 |ENE 3.0 |ENE 4.1 |NNE 2.1 | &M SR | L3 ] 1.8 8.0 45| 3.3
9)24.0 [21.7 |22.4 |[SE 2.6 [SSE 3.0 [SSE 4.1 2K E—FERNEMG| H3 —[15.0 ] 8.7 | 6.3
10§27.9 [19.5 [23.3 [N 5.2 |E 2.0 |Wsw 4.1 |wNw 3.1 | mEtsEa R H2 | 9.1 [30.0 | 7.6 | 2.7
11§26.6 [19.9 [23.0 |E 1.5 NE 2.0 |SE 2.1 |sw 4.1 | #H=E 2R H2 | 4.0 [25.0 | 40| 3.7
12§22.4 [19.3 [20.9 |WNW 2.1 N 4.0 |ENE 1.5 |s 8.7 | 2w ElFx [ F2 —]9.0]39]038
13§27.5 [19.5 [23.0 |WNW 2.1 |ESE 2.0 |s 3.6 |WNW 9.8 | W5—mr2 i — 2 H2 | 6.7 80| 1.8 4.4
14§26.2 [20.1 [22.5 [E 5.2 |E 3.0 [E 3.6 |ENE 4.1 | FEtR MR & n2 )79 (2.0|75]3.5
15§22.5 [18.6 [20.8 |N 3.1 |E 3.0 N 1.5 |SE 4.1 | B0 xRy Mg | P —115.0 | 3.5 | 5.2
16§26.6 [18.4 [22.8 |NNE 3.6 [E 4.0 [E 3.6 |NNE 9.8 | B —Hp= Efp W | H3 ] 8.8 [15.0 | 7.7 | 3.7
17§25.7 [19.8 [22.2 |E 5.2 |ENE 2.0 |E 3.6 |NNW 4.1 | W % & H3 f11.2 [30.0 | 8.9 | 3.2
18]22.6 [18.0 [20.7 [N 4.6 |NNE 3.0 |NNE 3.6 |E 6.2 | &Ky B F3 | 2.1 (300 77| 4.4
19§24.9 [20.0 |21.6 |N 4.6 |NE 3.0 |ENE 6.2 [IN\NE  12.9 | & Eeth— I F3] 0.5 [10.0 | 5.3 | 4.6
20027.5 119.6 |22.2 N 7.7 |NNE 4.0 |ESE 3.1 IN 12.9 | PRBE TR 13 f10.8 [30.0 | 9.3 | 2.0
21]23.4 |18.8 [21.0 |E 1.0 [SE 2.0 |s 3.1 |sw 4.1 | = EihHrxm | H5 | 0.6 |15.0 | 7.9 | 6.6
22]25.9 119.9 |22.6 [S 1.5 |SSE 4.0 |sw 2.1 |SSw 5.1 | W & 5 | 1.0 [20.0 | 7.4 | 5.5
23127.1 |20.2 [23.3 [ENE 1.5 |E 3.0 [E 2.6 |SE RIS Emiiamg | Hs | 7.7 |25.0 | 7.1 | 4.9
24127.4 120.4 [23.1 [NNE 2.1 INE 3.0 [E 6.2 |NE 7.2 | B IS H5 §10.6 [20.0 | 7.9 | 3.1
25027.6 119.3 [23.1 |N 3.1 |E 4.0 |E 4.6 |NNE 6.2 | i R | H3 J11.4 [25.0 ] 6.2 | 0.8
26]27.5 120.2 [23.2 |N 1.5 |NNE 2.0 [E 4.6 |NNE 8.7 | =& i H3 | 7.5 [25.0 | 4.5 | 3.0
27025.6 |20.2 |22.0 |NE 1.5 |E 4.0 |E 5.7 |E 3.1 | &—mri 2 H3 | 2.2 [10.0 | 6.9 | 5.3
28]27.1 |20.1 |23.0 [E 3.1 INE 2.0 |s 4.1 s 3.1 | EmrxiE L3 5 | 6.6 [15.0 | 7.6 | 5.5
29]24.3 120.5 [22.3 [N 2.1 |SE 2.0 |E 1.5 2R 5§} F2 —] 60| 24|49
30022.1 |18.0 |19.6 |NE 1.5 |N 2.0 |E 2.1 |Ssw 3.1 | W %42 F3 6.0 | 45| 2.9
W) RIR. EUE - R, KRR, BRE ORI, SR REE 0BT — 5 2R,
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Rk 2 1461 0

ES % = H [ u
(C) (m/s) A K IH] | R E(°C)
E] =% ; T (06~18h) | (18~306h) | km) [TOOWE[ 210F
1 .9 [20.7 3.1 INE 3.0 [E .6 |NE 2.1 | Wiy« = 2 [ 6.9 [10.0 | 7.9 | 4.1
2 L7 |21.1 2.6 N 2.0 |Ssw 4.6 |s 1.8 | N —H& 2R 3.0 45| 1.9
3 .5 ]22.3 3.1 |NNE 4.0 IN 4.1 |sw 10.8 | Z&HEx i 2 B 1.3 ]25.0 | 5.4 | 3.2
4 .5 |21.9 1.5 N 2.0 [SE 3.6 [S 8.2 | Wy iy I 5.3 125.0 | 7.0 | 4.6
5 4 119.1 1.5 |NNE 1.0 |ESE 1.5 |SE 6.2 | ZEMFx [ —110.0 | 5.0 | 5.7
6 o4 [17.2 3.1 |NNE 3.0 N 2.1 INE 4.1 | 2= —|30] 49] 5.4
7 .0 |16.9 3.6 N 4.0 IN 4.1 INE 6.2 | & N —| 40| 49] 46
8 .9 [20.9 12.4 |sw 11.0 [wsw 7.7 |s 30.9 B i 6.5 6.0]89] 3.9
9 .9 120.0 4.6 IN 3.0 |Wsw 2.6 |Nw 7.2 e S 5.0 |35.0 | 9.4 | 3.4
10, .9 |17.6 2.1 |NNE 2.0 |E 1.5 |NNE 3.1 o 4.6 130.0 | 7.0 | 2.1
11 .3 ]18.4 3.1 N 3.0 [S 2.6 |ENE 2.1 i P A 9.3 [40.0 | 6.4 | 4.3
12 .8 ]18.2 1.5 |ESE 2.0 |ESE 3.6 |s 7.2 2 — i 7.2 |20.0 | 8.3 ] 2.3
13 .3 ]19.2 2.6 |ESE 2.0 |s 3.1 |Wsw 3.1 i 8.8 |15.0 | 6.2 | 3.7
14 22 |17.9 2.1 |ENE 2.0 |E 2.1 s 7.2 | Wi e R | e, 1.5 70| 6.8]| 5.9
15 .7 |17.6 2.6 |ESE 4.0 |SE 2.6 |NNW 5.1 | W i) 10.0 [15.0 | 7.1 ] 0.3
16 .8 [17.9 2.6 |E 2.0 |SSE 2.11s 2.1 | Pemk I I 10.2 [20.0 | 4.4 ] 1.5
17 .3 117,86 1.5 |s 2.0 |ssw 2.6 S 7.2 | W | 2R 0.3 110.0 | 4.2 | 4.3
18 .7 |19.6 1.5 |s 3.0 |sw 5.2 |Wsw 5.1 | i 10.3 | 6.0 2.8 ] 4.5
19 .0 ]19.4 1.5 |SSE 4.0 |sw 4.6 |wsw 6.2 | W —Hr2 5.8 15.0 | 4.9 |-2.5
20 .2 |21.7 5.7 |sw 8.0 |sw 9.3 |sw 6.2 | EBFxE 4.0 125.0 | 0.6 | 4.7
21 .0 [18.7 2.1 |SE 3.0 [S 4.6 |WSW 2.1 | W 8.1 120.0 | 3.9 |16.4
22 .7 |18.4 3.1 |ESE 1.0 |ESE 1.0 |SSE 4.1 | MR 4.0 120.0 | 4.9 | 4.1
23 .9 ]18.0 2.1 INE 2.0 [E 4.1 IN 1.0 | 2R 5.5 120.0 | 6.7 | 4.0
24 .5 |15.9 4.6 |NNE 2.0 |NNE 1.5 |ENE 3.1 | &% —| 80| 42|42
25 .2 |14.1 5.7 N 5.0 [N 5.2 |E 12.9 | WthE —| 50]6.6] 5.8
26 L9 |14.2 7.2 N 9.0 N 8.8 |ESE  10.8 | KW 5 —|50]39] 6.4
27 .6 119.0 3.6 N 1.0 N 7.2 |WNW O 13.9 | I i 10.0 [40.0 | 6.6 | 0.2
28 .8 [17.4 1.5 |E 2.0 |s 4.1 s 4.1 | W it 8.4 |20.0 | 3.9 1.4
29 .7 |16.4 3.6 [N 1.0 |SSE 1.0 |s 6.2 | &—HKF SR 2 W I 0.5]6.0] 31|24
30 .0 19.2 2.1 [SE 2.0 [SE 2.1 [wNw 3.1 | WEtE IR 7.9 (10.0 | 3.4 ] 0.7
31 B BN T NNE O ENE ST ESE e ] Wi 9.0 10,0867 5.9
— PRk 2 1411 1
ES * e X1 H [ 3
% ) &1 [ -~ | om i
(‘C) (m/s) A &I EN S £ (C)
A LT i3 i3 T 50F T000m (06~18h) (18~%06h) | B | [ | (km) | O9FF[ 21
1 3.7 119.3 2.1 |sw 8.0 |sw 9.3 |Wsw 9.8 | =—KrhE MEm e | F2 1 5.8 [10.0 ] 0.7 | 44
2 6.4 |13.3 4.6 |ESE 3.0 |SSE 2.6 |NE 8.7 | AR~ | MimsxZ—msmg| F3 | 0.1 [30.0 | 8.1 ] 5.0
3 6.4 |10.6 7.7 |NNE 6.0 N 4.1 |NNW 5.1 | i i3 H1 §10.0 [40.0 | 8.1 | 0.4
4 6.8 |12.1 2.6 [E 2.0 |sw 5.2 |SSW 11.8 | B M H2 | 6.9 [20.0 | 0.6 [-0.2
5 9.9 [13.7 1.0 |sW 4.0 [wsw 2.6 |s 1112 BN H5 } 1.2 120.0 ] 0.2 |-2.6
6, .8 [15.2 3.6 [E 3.0 [E 3.6 |ENE 3.1 | P B I % 2§ 9.5 [40.0 | 0.0 | 2.7
7 .9 |16.4 3.1 N 2.0 |ENE 1.5 |SSE 2.1 | W5 —HrE i H2 | 6.4 80| 1.2 3.7
8 .6 |16.7 3.6 N 3.0 [N 1.5 |SSE 4.1 | ERFx i H5 | 3.8 [12.0 | 3.9 | 2.7
9 4 |17.1 2.1 |ESE 3.0 [E 1.5 |Ssw 5.1 | MEfLIE 2 R BEE H2 | 7.2 [20.0 | 2.9 | 3.0
10 .6 |17.7 L0 |E 2.0 [ESE 1.5 |sW sl mwE | KEcREE | 150 5.8)60) 33|36
11 .7 16,7 3.1 |NNE 2.0 N 4.1°1s 18.0 | KEN W | W L2 2.0 | 4.6 ] 4.2
12 .3 ]13.0 3.6 |NE 5.0 |NE 3.6 |NNE 9.8 | &—HKF & F3 30.0 | 8.6 3.7
13 .8 |10.7 6.2 N 7.0 [N 7.2 |E 11.8 | 2Fr 4 [ Mg —w2 | F3 20.0 | 5.2 | 1.0
14 .3 |17.2 5.7 |sw 10.0 [sw 5.7 |SSW 22,1 | MikE i F2 | 0.5 [15.0 [-1.4 | 1.3
15 .3 |16.7 4.1 |sw 9.0 |Wsw 7.7 |sw 9.8 | W e i [ 1] 9.5 [40.0 | 2.2 ] 0.4
16, .0 [14.1 3.1 |NNE 2.0 [N 0.5 |WNW 4.1 | & = H1 20.0 | 4.7 | 3.5
17 1| 9.8 4.6 N 4.0 N 4.6 |ESE 4.1 | /M R L3 10.0 | 3.1 | 1.6
18 8.4 |11.3 3.1 |NNE 2.0 [N 4.6 IN 5.1 | B —HpE i i H1 30,0 | 7.1 | 5.5
19 6.5 | 7.6 5.2 N 4.0 N 3.1 s 3.1 | ks & i — L3 30.0 | 5.1 [-1.2
20 6.1 [10.4 2.6 [ENE 3.0 |E 4.1 |NWE_ 3.1 | Witk Remitms)| 3 | 7.9 130.0 [ 5.1 ] 6.4
21 8.7 |12.0 2.6 |W 1.0 |SSE 2.6 |WNW 9.8 | i 3 H1 | 8.6 [20.0 | 3.2 | 4.7
22 7.6 | 8.5 3.1 N 4.0 IN 4.1 [E 4.1 | &R~/ 55} L3 —125.0 1 6.7 ] 0.0
23 6.9 |10.8 2.6 |E 2.0 |SE 2.1 N 6.2 | B M2 2 | 2] 6.8(2.0]26]00
24 8.7 |11.7 3.6 [N 4.0 IN 3.1 |SSE 5.1 | & S 2 [ H3 | 1.1 [20.0 | 0.5 | 2.2
25 .6 |12.6 3.6 |NNW 3.0 |SE 2.1 |w 2.1 | B RERRHS| 2 H1 | 2.5 180 0.8 0.9
26 .8 [14.2 1.5 [E 4.0 [E 3.6 |Nw 4.1 | W —mpE b H3 | 7.7 [10.0 | 6.2 | 3.6
27 .3 ]13.9 1.5 |ENE 2.0 |SSE 1.5 |Ssw 9.8 | EFFxHE Hrx 2 | H5 ] 5.3 ] 8.0 1.1 [-0.2
28 .0 |13.8 4.6 |NE 2.0 [E 4.1 |NNE 5.1 | W & HI | 7.7 |25.0 | 2.0 | 5.4
29 .8 |10.6 3.1 INE 2.0 INE 2.6 |NNW 4.1 | 2B 5§} H3 | 1.3 [30.0 | 7.0 | 6.6
30 9] 9.4 5.2 N 4.0 IN 4.1 |SE 5.1 | & —WrfN R4 H3 | 0.1 [10.0 | 3.9 | 5.6
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TR 2 1461 2

ES % = X1 B [ u
# L) & [ “ | m v
(C) (m/s) A &[] | R E (C)
nlEe [ RBE] 75| 09 T 2 T 50 TOOOm| (06~18h) | (18~2o6h) | ® | B | (km) [ O9FF] 21
1J14.9 | 8.1 [11.4 |N 2.6 |NE 2.0 |ESE 2.1 |NNW 3.6 | MR 2 | I Fre H3 | 6.7 [10.0 | 4.1 ] 0.1
215.4 | 7.5 |11.6 |N 2.6 |E 1.0 |ESE 2.1 s 4.1 | K4 5% —RERR H2 | 8.5 | 9.0 |-0.4 ] 0.6
311.3 | 8.5 [10.0 [N 4.1 IN 6.0 [N 5.7 |SSw 4.1 | W MG % 2| L3 —|50]06]21
4)15.6 | 9.7 [12.1 |NNE 5.2 |NNE 4.0 |E 6.2 N 9.8 | K4 e R H1 | 6.11{40.0 | 5.9 | 6.0
5012.4 | 8.9 [10.1 [N 3.6 IN 4.0 IN 5.2 |SSE 4.6 | ZWF2 iy 2 —FERENE| L3 ] 0.0)[25.0 | 6.4 | 1.3
6j16.2 | 7.7 |11.5 N 1.0 [ENE 1.0 |E 2.1 |WNw 3.6 | W i H1 | 9.1 [30.0 | 4.0 3.0
7014.7 | 7.8 [10.2 [NNW 4.6 IN 5.0 [N 5.2 |WNW 17.5 | I W2 | o | 8.7 [35.0] 40 6.5
8l12.9 | 6.4 | 9.9 |\NE 4.1 |E 4.0 |ENE 1.0 |Nw 4.1 | K R H2 | 9.2 [30.0 | 1.6 | 3.9
of11.4 | 7.5 ] 9.8 |N 4.1 IN 4.0 IN 4.1 |SSW 51 | & =B L3 —|15.0 | 2.8 | 3.8
10013.9 | 9.4 [11.1 N 3.1 INE 2.0 |E 4.6 INE 2.6 | HE—HrE S | H3 ) 3.5]115.0 | 6.9 | 5.7
mjro.r [ 7.1 | 7.9 N 6.2 IN 6.0 IN 5.7 |ESE 8.2 | TR —WFE | L2 —1 80| 47 2.3
12§17.8 | 9.3 [13.2 N 3.6 N 3.0 |ESE 1.5 |ESE 3.6 | KB i 1% 42 H1 | 7.1 [40.0 | 1.6 | 1.2
13§12.8 | 8.9 [11.3 [N 5.2 INE 2.0 |NNE 1.5 |Ssw 3.1 | & R 2 42 H3 | 1.4 [20.0 | 3.7 | 7.9
1.3 [ 7.1 | 8.7 |E 2.1 N 2.0 |E 2.6 |NE 4.1 | 2—BrHE A H3 | 2.3 [15.0 | 7.2 | 6.0
150 9.8 159 [ 7.7 |NE 1.5 |ESE 2.0 |s 2.1 N 12,8 | @l | WP -reE | HL B 3.0 140.0 1 4.7 | 1.9
16 9.0 | 5.1 | 6.6 |NNW 2.1 N 3.0 |NNE 1.5 |NE L5 | 2 =R & B F3 —130.0 ] 1.8 | 5.1
17§10.3 | 4.9 | 7.1 [N 2.6 [E 2.0 |SSE 2.6 |WSW 4.6 | BE—HFPE S H1 | 8.2 [15.0 | 5.9 ] 2.1
18] 9.7 | 3.2 | 5.8 |Wsw 6.2 |Wsw 6.0 |Wsw 7.2 |sw 9.8 | hemE i H1 | 9.5 [30.0 | 7.1 | 2.2
19 9.6 | 1.8 | 5.3 |wNW 1.0 |wsw 3.0 |sw 4.6 |WNW  14.9 | I Jei H1 | 8.1 ]50.0 | 6.3 4.6
20011.3 | 2.8 | 6.5 |w 4.1 |Wsw 4.0 |wsw 4.6 |Wsw 6.7 | PemE i ) H1 | 9.4 [40.0 | 0.9 | 0.3
21]10.3 ] 3.5 | 5.8 |N 4.1 IN 2.0 IN 3.6 |WNW 17.5 | I W% —mr2 | H1 | 8.9 [50.0 |10.3] 6.9
22 9.8 1 2.0 | 5.9 |N\NE 1.5 |NE 1.0 |s 2.1 |w 9.3 | WE—FFR i H4 | 6.5 [40.0 | 2.5 |-2.2
23113.5 | 3.4 | 8.5 |\\w 1.0 |s 2.0 |sw 5.2 |w 3.6 | P Jer H4 | 9.1 [20.0 [-1.1 [-2.5
24113.6 | 5.8 | 9.5 [N 2.1 N 3.0 |ESE 2.6 |WNW 13,9 | B —RpEE | & H3 | 8.6 [40.0 | 0.1 | 0.3
25012.2 | 7.8 |1 9.3 |N 5.7 |NNE 2.0 [E 4.1 IN 1.5 | WE—Rpie Zngm i) B3 § 7.1 120.0 | 4.0 | 2.4
26]11.7 ] 6.3 1 9.0 [N 2.1 N 1.0 |E 1.0 |sSW 113 | =& MG E % | L1 | 4.9 [15.0 | 2.2 |-0.5
27012.3 | 7.4 | 9.5 |N 5.2 |NNE 2.0 [E 1.5 |WNw 1.5 | e L H3 | 6.5 [30.0 | 1.4 | 4.5
28]14.6 | 6.6 | 9.4 |N 1.5 |ssw 1.0 |wsw 2.1 [sw 12.9 | E—FFNEE| HERx & L1] 51100 0.6]6.1
29010.6 | 6.3 | 8.0 [NNE 5.2 [N 2.0 [E 2.6 |WSW 2.6 | BE—HE L S H2 | 5.4 [40.0 | 7.7 | 4.3
30013.5 | 4.7 ] 9.4 N 1.5 |s 5.0 [sW 8.2 |SsW 9.8 | MEHix = [l L1 ] 7.3 [20.0 | 1.7 |-3.5
K31 BEOECH B AV L §0TWSW 80| 9. 8" N 6. 27| el T 8730007003 6 a
R 2 241 A
Ed % S X1 B ) u
% ) & [ “ | m v
(C) (m/s) A &[] IR i E (C)
nlEe [ RBE] 75| 09 T 2 T 50 TOOOm| (06~18h) | (18~2o6h) | ® | B | (km) [ O9FF] 21
1fio.1 | 1.5 | 5.3 [wsw 4.1 |Wsw 5.0 |W 5.7 W 15.4 | B RS HI | 9.3 [40.0 | 7.4 | 5.6
2010.5 | 2.0 | 6.7 N 0.5 |ENE 2.0 |SE 2.1 |wNW  20.6 | P i H1 | 9.4 [30.0 | 6.6 | 0.8
310.1 | 2.2 | 6.3 [N 3.6 |NNE 3.0 [N 3.6 |Nw 4.6 | 2 i — HI | 7.6 [25.0 | 0.1 | 1.4
41 9.9 2.9 | 6.4 |N 2.6 |ESE 2.0 |ESE 1.5 |w 7.7 E % —RERR H2 | 4.1 [50.0 | 2.7 | 1.5
5014.4 | 2.8 | 8.3 [nw 2.1 |w 4,0 |Wsw 5.2 |sw 17.0 . ; H | 9.0 [15.0 | 0.4 ] 6.1
6j10.0 | 3.4 | 6.2 |N 1.5 |E 1.0 |E 2.6 |WNW  17.5 | B —RKFE H1 | 8.2 [40.0 | 7.1 ] 6.3
7012.9 | 2.6 | 7.6 [W 1.5 N 4.0 IN 2.6 |Nw 5.7 | W H1 | 9.4 [40.0 | 5.3 | 5.4
sji1.6 | 3.6 | 7.3 |N 2.1 |NNE 2.0 [SE 2.6 |ENE 2.6 | WEtL— R H1 | 7.9 [50.0 | 3.8 | 1.8
9f10.6 | 3.7 | 7.0 |N 2.6 [E 2.0 |ESE 2.6 |WNW  10.8 | H1 | 9.5 [30.0 | 2.9 3.3
10012.3 | 3.6 | 7.1 N 3.1 IN 3.0 N 3.1 |w 5.7 | P H1 | 9.2 [40.0 | 0.9 | 1.0
1y 7.4 | 3.7 | 5.3 |[NNW 3.1 N 4.0 |E 2.11s 7.7 | = = H4 | 0.7 [25.0 | 2.5 | 4.4
12f 5.3 2.8 3.6 N 2.1 N 2.0 N 4.1 |SSE 2.1 | N—H2 ERF 2 HERE| L3 —l10.0 |-1.5 | 3.0
13 8.5 1.4 | 4.6 |WwNW 7.2 |w 9.0 |Wsw 7.7 |WNW 18,5 | IE—HEE IS H1 | 8.1 (300 6.5 6.3
14 9.2 [-0.3 | 3.7 IN 2.6 |NNW 2.0 |s 2.6 |w 10.3 | #§ i H1 | 8.6 [40.0 | 4.6 | 5.8
150 9.2 1 0.0 | 4.7 |w 1.0 |ssw 1.0 |ENE 3.1 [wsw 7.7 | B . S Hi | 8.8 [40.0 | 3.4 | 1.5
6] 7.3 1.5 | 3.6 |N 6.2 |NNE 4.0 N 3.1 [NW 15.9 | FftL—Rem [ H1 | 5.8 [40.0 | 7.1 | 1.7
17 9.0 0.5 | 4.7 |N 2.1 [E 3.0 [E 2.1 |Nw 9.3 | W i H1 | 9.6 [40.0 | 6.6 | 1.7
18] 8.3 2.1 | 5.2 N 3.1 INE 1.0 |ESE 3.1 |w 5.7 | B —HE i H2 | 6.5 [25.0 | 0.7 |-1.4
19§14.4 | 2.0 | 8.5 [N 0.5 |SE 3.0 |ESE 3.1 |w 5.1 | B I % 2 H2 | 9.6 [20.0 | 0.5 |-0.4
20017.2 | 5.2 [12.5 [wNw 1.5 |wsw 7.0 |wsw 7.2 |wsw 9.8 | WA AmE | B0 | H4 | 7.4 [10.0 [-4.8 |-3.6
2119.1 | 6.8 [13.8 [Wsw 6.7 |sw 8.0 IN 2.6 |WNW 8.7 | & —WrrN i 2 F3 | 0.1 ]20.0 |-1.6 | 5.5
221 9.6 | 3.8 | 6.8 [N 4.1 N 1.0 |ESE 3.1 |\w 23.1 | M 2 i — 2 H1 | 6.0 [30.0 | 8.2 | 4.7
23] 8.8 | 2.8 | 6.0 [NNE 3.1 [E 3.0 |ESE 2.6 |Nw 7.2 | WERFX & i H1 | 8.6 [40.0 | 4.5 | 5.9
24110.6 | 2.8 | 6.8 |\W 1.5 |ESE 3.0 |ESE 2.6 [WNW  11.3 | g i H1 | 9.8 [30.0 | 3.1 | 1.5
25016.0 | 3.1 | 8.4 |N 2.6 |ESE 2.0 |ssw 3.1 |w 4.6 | W i H4 | 8.0 |25.0 | 6.3 [-2.9
26[11.0 | 3.9 | 6.8 |N 6.2 N 5.0 N 3.6 |WNW  15.4 | P i H1 | 9.6 [40.0 | 9.1 | 3.9
27012.5 | 2.1 | 7.7 |NNE 1.5 |s 3.0 |Ssw 6.7 |sw 9.8 | Wits—mrE | B H4 | 8.3 [25.0 | 2.8 | 2.8
28115.0 | 9.8 [12.8 [wsw 6.2 |Wsw 8.0 |sw 4.6 |sw 23.7 | B2 MR | L2 ] 0.4 [30.0] 7.2] 0.1
20013.3 | 7.3 | 9.3 [wsw 0.5 |NNE 3.0 |E 4.6 |SSE 4.1 | BEtE—WpE | B HI | 7.3 ]25.0 | 2.5 | 1.6
30012.2 | 4.9 | 8.4 N 4.1 |E 2.0 |s 2.6 |\ 10.3 | m5—mr2 7 2 I H2 | 8.8 [30.0 | 0.6 | 1.1
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R 2 24E2 A
S % S K H [ u
(C) (m/s) A K IH] L E(°C)
nl B[R] 75| 09 T 2 T 50 TOOOm| (06~18h) | (18~2o6h) | ® | B | (km) [ O9FF] 21
o7los5]59]N 5.7 |NNE 3.0 INE 3.1 |ESE 6.2 | =&MW nep—msge L3 1.2 [10.0 ] 0.9 3.7
2 8.1 0.8 41 |E 2.6 |ESE 3.0 |ESE 2.1 |wsw 2.1 | B | AR 2 H1 | 1.3 [30.0 | 4.7 | 0.0
3 7.7 | 1.4 | 4.3 [ENE 3.1 |NNE 2.0 [E 3.1 |Nw 3.1 | WtakFx R | & -WeRfARE| H1 | 4.4 |125.0 [ 8.0 | 5.6
4 6.3 [-0.1] 3.1 |N 2.6 |E 3.0 |SE 2.1 |WNw 9.8 | mEHrx 2 i H1 | 6.3 [25.0 | 3.3 | 3.4
5010.1 | 0.5 | 4.8 [N 1.5 |SE 3.0 [ssw 3.6 [WNw 7.7 | W S i1 f10.2 [40.0 | 2.5 | 5.3
6] 9.0 [-0.3 ] 3.7 N 3.6 |W 5.0 IN 5.2 [WNW 12,9 | i i H1 | 9.3 [40.0 | 8.5 | 7.2
70111.0 | 0.7 | 5.5 [wsw 3.1 |NNw 8.0 IN 6.2 |Nw 17.0 | Pemg i 2 i | H1 110.3 [40.0 | 7.1 | 3.9
810.0 [ 2.2 | 6.3 N 3.1 |ESE 2.0 |ESE 2.1 |Ssw 4.1 | WL i —RF & H4 ] 8.4 [25.0 | 40| 2.5
9f20.5 | 5.8 |15.5 |sw 5.7 |sw 7.0 |sw 6.2 |WSW 8.7 | WEthME 2% —HeE | F2 ] 7.5 |20.0 |-1.9 [-0.8
1001391 55| 9.0 INNE 2.6 INNE 3.0 INNE 2.1 [SSW 3.1 | & MsE F2 —|20.0] 6.6 ] 3.1
11 6.0 | 2.4 | 4.6 |ENE 3.6 |ENE 4.0 |ENE 3.6 |NE 3.1 TR —WFE | L2 —110.0 | 5.9 | 4.1
120 5.1 2.3 | 3.8 NE 3.1 INE 3.0 INE 1.5 |N 10.8 | & sunsem-wazn | F3 —|15.0 1 6.7 7.0
13 41| 1.2 | 2.2 INNE 2.6 |NNE 3.0 |NNE 2.1 N 2.1 | AEN—HEF| 2 wpzngmen| F3 —| 40| 57|53
14 7.3 0.8 | 4.4 N 1.5 |SE 2.0 |\w 1.0 |NNW 4.1 | W2l & H2 | 5.7 [15.0 | 1.7 | 3.4
150 6.0 4.1 | 5.0 N 3.6 N 4.0 IN 4.1 |s 4.6 ; i — I L3 —]10.0 ] 0.8 | 3.0
16] 5.0 | 2.5 | 4.0 |NNE 3.1 |NE 2.0 |E 3.1 |NE 11.8 mee, menees | HL —120.0 1 7.8 7.0
17] 5.0 2.0 | 3.3 |N 4.1 |NNE 3.0 |NNE 2.6 |NE 4.6 4T | H3 —|15.0 | 8.1 | 8.3
18] 6.8 | 0.3 | 3.2 N 5.7 IN 5.0 |E 2.6 |ENE 5.1 R I 33750 45] 4.1
19] 8.8 2.0 5.7 N 2.6 [E 3.0 |E 4.1 |wNw 3.6 I — Hi | 6.1 [10.0 | 2.0 | 3.7
20010.5 | 3.0 | 6.5 [N 3.6 |NNE 2.0 |E 2.1 |\w 8.7 W H1 | 9.2 [20.0 | 2.4 | 5.2
211 9.1 ] 3.3 5.8 |[NNE 4.6 [E 5.0 |ESE 2.6 |NW 7.7 = H3 | 4.1 [30.0 | 6.7 | 5.8
22010.6 | 4.7 ] 6.9 [N 3.6 |E 2.0 |ENE 1.5 |SSE 4.6 2 — i L1 | 35150 6.8] 3.6
23014.1 | 4.4 ] 9.0 [N 2.1 |ESE 2.0 |ESE 3.1 |Nw 7.7 i i H2 | 7.4 180|271 30
24]15.8 | 8.0 |11.6 [N 2.6 |NE 2.0 |E 4.1 |E 3.6 S 5 | 9.2 1 6.0 | 5.5 |-0.1
25019.1 | 7.8 |13.0 |E 1.5 |E 2.0 [ssw 5.7 |sw 8.7 ] 5 | 7.3 1 0.6 [-0.6 | 3.6
26]17.7 |13.7 [16.1 [SW 8.8 |swW 10.0 [SSw 8.2 |sw 25.2 | a2 [y PG F2 —|25.0 | 7.4 ] 3.9
27015.2 | 7.8 |10.7 [N 8.2 |ENE 4.0 |ENE 5.2 |NNE 7.2 | WtEREx R | R 2 L2101]80] 1.5[-0.5
28]10.0 | 3.8 | 6.6 |NNE 3.6 |ENE 3.0 |ENE 2.6 [N 7.2 | —RREARE| 2R L3]33|60]42] 21
YRk 2 24£3 A
i3 - — <] B ] & | %
% % & Ja 1A Ja i - | ® e
(‘C) (m/s) A &I EN S JZ (°C)
=0 EETE BRI 0N RS 0 OIF T 21F T 50F T00O0m (06~18h) (18~%Fo06h) | AL | M | (km) | O9FF[ 21FF
1f16.8 | 6.6 [10.3 N 3.6 |E 2.0 |sw 7.7 |SwW 6. 2 ) W5 [ 3.3 40 2.9 [-1.5
2 8.3 | 4.1 | 5.6 |NNE 2.6 |NE 3.0 INE 2.6 |N 4.6 Z 2 [ F3 —l10.0 | 3.1 | 4.2
312.5 | 4.0 ] 7.9 N 2.1 |E 3.0 |ESE 2.1 |ENE 5.1 | ERAEE | & H1 | 6.3 [15.0 | 4.7 | 6.1
4§10.3 | 5.6 | 7.7 |ENE 2.1 |ENE 3.0 |E 3.6 |s LO | 2N | Wiklfxcz | L2 ] 0.2 120.0 | 7.6 | 1.2
5017.0 | 5.3 |11.8 [SSE 1.5 |s 2.0 |ESE 2.1 |w\w 10.3 | W x 2 22— | H2 | 6.1 [26.0 |-3.5 |-1.2
6f14.2 | 8.8 [11.1 |NNE 2.1 |NNE 3.0 |ENE 2.6 |W 3.6 | FItR Ky i L3 —| 1.2 ]138] 3.5
71 9.4 | 3.2 | 6.1 [NNE 3.6 |NE 3.0 |NNE 2.6 |NE 9.8 | W L3 —|80]60]75
8] 8.3 | 3.3 | 5.6 |N\NE 3.1 |NNE 4.0 [E 4.6 IN 9.3 | ERFxHE H3 | 3.7 [20.0 | 83| 6.3
9f 5.7 0.7 ] 3.4 N 5.2 IN 6.0 N 5.2 |E 3.6 | ®uszn—wm L2 —120.0 | 7.0 | 2.1
1014.1 | 1.4 | 6.1 [N 4.1 |s 1.0 [sw 9.8 INE 9.8 | & —MEyiLIg 12 ] 46 [20.0] 1.8] 0.4
11f14.4 | 2.9 | 8.4 |NNW 3.1 N 7.0 [sw 4.1 |\W 12.9 | g H1 f11.2 [40.0 | 8.0 | 4.1
12§15.0 | 3.9 [10.0 [N 3.1 |ESE 2.0 |SSW 4.1 |s 7.7 | BhE s | 7.6 [15.0 | 4.6 | 5.3
13§20.2 [10.0 |16.0 |sW 7.7 |sw 6.0 |sw 9.3 |sw 11.8 | WE%EE F2 | 8.6 (200 20| 2.9
14§14.7 | 7.8 [10.6 |NNE 3.1 |ENE 3.0 S 4.1 |wsw 5.1 | W H3 | 8.1 [30.0 | 7.3 3.9
15018.2 | 8.1 [13.5 |N 2.1 |ESE 3.0 |sw 5.7 1s 15.9 | Z—WE H5 | 2.8 [10.0 | 1.4 [16.2
16§23.7 [11.4 [16.9 |S 7.7 [Sw 7.0 |Sw 5.2 |sw 14.9 | B F2 | 6.3 [15.0 [-4.8 | 3.7
17f12.2 | 7.1 | 9.4 N 3.6 |E 1.0 |SSE 6.2 |\ 17.0 | WfEE~ 2 HI | 4.7 |25.0 | 9.3 | 5.7
18J14.5 [ 6.2 | 9.7 |N 2.1 |ESE 3.0 |Ssw 4.1 |Nw 2.1 | 2xriers | 2uiiem |3l 7950 7.4 4.9
19§11.8 | 3.4 | 8.3 N 1.5 |ESE 3.0 |SSE 4.1 N 4.6 | WM& 2 i H4 | 5.3 [10.0 | 6.6 | 5.2
20020.3 | 7.0 |15.0 [sw 4.6 |s 7.0 [S 7.2 |sw 12,3 | WE—HFMER | awemam, sars | 04 | 9.3 | 9.0 |-3.8 ] 0.5
21]20.6 | 6.6 [15.0 |N 3.1 |Wsw 7.0 |Wsw 9.3 |WNW 134 | w—wsm, wares | PG F2 | 8.4 150 2.8 6.4
22]13.7 | 5.6 | 9.5 [N 3.6 |SSE 3.0 |SSE 6.2 |WNW  13.4 | nF Efh—WfR | H2 | 9.7 [30.0 |10.3 | 5.5
23]15.8 | 8.3 |11.2 [E 2.6 |E 2.0 |ESE 2.6 |sw 5.1 | i i | [ F3 | 4.8 [10.0 | 5.6 | 4.0
24110.1 | 3.2 | 6.9 [NNE 2.6 |ENE 5.0 |ENE 4.1 INE 6.2 | W 5§} F3 —|80]65]23
250 7.4 | 3.1 | 5.1 |N 4.6 IN 4.0 IN 4.6 |ENE  11.3 | M M2 [ L3 —|50]20] 5.5
26]12.2 ] 5.5 | 8.4 |N 2.6 |ESE 2.0 |ESE 3.6 |S 5.1 | i —mi | A2 —IERN HL | 4.7 [35.0] 9.2 | 3.3
27012.4 | 4.8 | 8.1 [E 3.11s 3.0 |sw 4.6 |WNW 5.1 | Wik 4 2 H2 | 6.1 [30.0 | 7.8 | 4.5
28] 9.4 | 4.0 | 5.7 |NE 3.1 INE 3.0 |ENE 3.1 N 1.0 | %KW H3 | 0.3 ]20.0 | 5.9 | 6.3
29 7.7 ] 2.0 4.5 |N 4.6 |NE 3.0 [E 3.1 |NNE 4.6 | M2 [N H1 | 0.9 [15.0 | 5.9 | 4.8
300 9.4 | 1.1 ] 5.5 |N 6.2 |ENE 3.0 |ESE 2.6 IN 5.1 | FEth— Wi H2 111.6 140.0 |10.4 | 4.5
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